

Tradict

$$\frac{1}{\operatorname{Tr}(\mathcal{D}^{s} \mathcal{Z}^{L}) + \dots} \qquad \Delta - s - L =$$





Rewrite everything in terms of the density of Bethe roots d/du F(u) Passing to Fourier space and redefinition of the density

$$S(k) = \frac{L}{|k|} [1 - J_0(\sqrt{2}gk)] + \frac{1}{\pi|k|} \int_{-\infty}^{+\infty} \frac{dh}{|h|} \Big[\sum_{r=1}^{\infty} r(-1)^{r+1} J_r(\sqrt{2}gk) J_r(\sqrt{2}gh) \frac{1 - \operatorname{sgn}(n)}{2} + \operatorname{sgn}(h) \sum_{r=2}^{\infty} \sum_{\nu=0}^{\infty} c_{r,r+1+2\nu}(g) (-1)^{r+\nu} e^{-\frac{|h|}{2}} \Big(J_{r-1}(\sqrt{2}gk) J_{r+2\nu}(\sqrt{2}gh) - J_{r-1}(\sqrt{2}gh) \Big) + \operatorname{sgn}(h) \sum_{r=2}^{\infty} \sum_{\nu=0}^{\infty} c_{r,r+1+2\nu}(g) (-1)^{r+\nu} e^{-\frac{|h|}{2}} \Big(J_{r-1}(\sqrt{2}gk) J_{r+2\nu}(\sqrt{2}gh) - J_{r-1}(\sqrt{2}gh) \Big) + \operatorname{sgn}(h) \sum_{r=2}^{\infty} \sum_{\nu=0}^{\infty} c_{r,r+1+2\nu}(g) (-1)^{r+\nu} e^{-\frac{|h|}{2}} \Big(J_{r-1}(\sqrt{2}gk) J_{r+2\nu}(\sqrt{2}gh) - J_{r-1}(\sqrt{2}gh) \Big) + \operatorname{sgn}(h) \sum_{r=2}^{\infty} \sum_{\nu=0}^{\infty} c_{r,r+1+2\nu}(g) (-1)^{r+\nu} e^{-\frac{|h|}{2}} \Big(J_{r-1}(\sqrt{2}gk) J_{r+2\nu}(\sqrt{2}gh) - J_{r-1}(\sqrt{2}gh) \Big) + \operatorname{sgn}(h) \sum_{r=2}^{\infty} \sum_{\nu=0}^{\infty} c_{r,r+1+2\nu}(g) (-1)^{r+\nu} e^{-\frac{|h|}{2}} \Big(J_{r-1}(\sqrt{2}gk) J_{r+2\nu}(\sqrt{2}gh) - J_{r-1}(\sqrt{2}gh) \Big) + \operatorname{sgn}(h) \sum_{r=2}^{\infty} \sum_{\nu=0}^{\infty} c_{r,r+1+2\nu}(g) (-1)^{r+\nu} e^{-\frac{|h|}{2}} \Big(J_{r-1}(\sqrt{2}gk) J_{r+2\nu}(\sqrt{2}gh) - J_{r-1}(\sqrt{2}gh) \Big) + \operatorname{sgn}(h) \sum_{r=2}^{\infty} \sum_{\nu=0}^{\infty} c_{r,r+1+2\nu}(g) (-1)^{r+\nu} e^{-\frac{|h|}{2}} \Big(J_{r-1}(\sqrt{2}gk) J_{r+2\nu}(\sqrt{2}gh) - J_{r-1}(\sqrt{2}gh) \Big) + \operatorname{sgn}(h) \sum_{\nu=0}^{\infty} \sum_{\nu=0}^{\infty} \sum_{\nu=0}^{\infty} c_{\nu}(h) - J_{\nu}(h) \sum_{\nu=0}^{\infty} \sum_{\nu=0}^{\infty} \sum_{\nu=0}^{\infty} c_{\nu}(h) - J_{\nu}(h) \sum_{\nu=0}^{\infty} \sum_{\nu=$$

satisfied by the Neumann modes ($u_h, u_h^{(0)} = 0$)

$$S(k) = \sum_{p=1}^{\infty} S_p(g) \frac{J_p(\sqrt{2}gk)}{k}$$

$$S_{2p-1}^{extra}(g) = 2\sqrt{2}g\gamma_E\delta_{p,1} + 4(2p-1)\int_0^\infty \frac{dh}{h}$$
$$S_{2p}^{extra}(g) = 4 + 8p\int_0^\infty \frac{dh}{h}\frac{J_{2p}(\sqrt{2}gh)}{e^h - 1} + 4p\int_0^\infty \frac{dh}{h}\frac{J_{$$

$$\gamma(g, s, L) = f(g) \ln q$$

$$F(u) = F_0(u) + F^H(u)$$

$$\int_{-b_0}^{b_0} dv \frac{1}{\pi} \frac{1}{1 + (u - v)^2} F_0(u)$$

$$\left(\frac{1 + \frac{g^2}{2x - (u)^2}}{1 + \frac{g^2}{2x - (u)^2}}\right) - 2i \sum_{h=1}^{L-2} \left[\ln\left(\frac{1 - \frac{g^2}{2x - (u)x + (u_h^{(i)})}}{1 - \frac{g^2}{2x - (u)x + (u_h^{(i)})}}\right) + i\theta(u, u_h^{(i)})\right] - \frac{i}{\pi}Z(b) \left[\ln\left(\frac{1 - \frac{g^2}{2x - (u)x - (b)}}{1 - \frac{g^2}{2x - (u)x + (b)}}\right) + \ln\left(\frac{1 - \frac{g^2}{2x - (u)x + (b)}}{1 - \frac{g^2}{2x - (u)x + (b)}}\right) + \frac{i}{dv}\theta(u, v)\right] [F_0(v) + F^H(v)]$$

$$E(g,s,L) = \int_{-b_0}^{b_0} \frac{dv}{2\pi} \frac{d}{dv} \left[\frac{i}{x^+(v)} - \frac{i}{x^-(v)} \right] F_0(v) - (L-2) \left[\frac{i}{x^+(0)} - \frac{i}{x^-(0)} \right] + \int_{-\infty}^{+\infty} \frac{dv}{2\pi} \frac{d}{dv} \left[\frac{i}{x^+(v)} + \frac{i}{x^-(v)} \right]$$

Is a large spin limit the anomalous dimension depends on the forcing term $F(u)$ nomalous dimension is calculated by solving a couple of LIE